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FA S22 HF
I3 HSUS(2HLDY/AS)
el MSHARLSH A (ehel: =3
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
Ond=Zt NEUW=l HE XA 7,000
OZM=28JedMuza HE XA
500,000& * 107 & X 5,000
oz=Jl M=zl HxX&
500,000 *107H & X 5,000
OZdMEM=UE MHEXA 40,000
OMEN = =L Hal Mzl K&
1,000, 000& 2020 & X 20,000
ONd=20otRHE & IIMal =X 10,000
Ony=Ui7AEsls+Hel D thal HEXI& 5,000
OZadgdct2E=2ZUs AKX 8,000
ODEZHOIESUE MHEXZ 5,000
OZsd FHWIRU3 MEXIH 10,000
OZOMAAIAZIHHYE NS 2EXA 4,000
o= |Rad Z70U3 HaEXA 60,000
ORM92l SXIADI SHMEN2EHE JHE X 60,000
H=EH X2 120,000 120,000 0
307 212+01 A 120,000 120,000 0
02 g2t atex 120,000 120,000 0
Ond=2M=z 28X 60,000
Olnd=MEN=s I 60,000
MEYEWAUEIE 20,160 24,544 N4,384
= 6,018
= 14,142
307 212+01 A 20,160 24,544 N4,384
S 6,018
= 14,142
02 QI H A2 X 20,160 24,544 N4,384
OUENSUAEESE 20,160
< 6,018
= 14,142
HEHSEZZIH 12,240 12,240 0
= 3,672
= 8,568
307 21Z2tol & 12,240 12,240 0
S 3,672
= 8,568
02 It H A2 X 12,240 12,240 0
O0elliMsunad=2d 3,960
< 1,188
= 2,772
OFAdMsuaA=2d 3,960
< 1,188
= 2,772
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SH: 2S2BHS D
Hu: HSUE(SHL2Y/HS)
Sl S HAILCH KIS ECR-ED
_ _ _ Muo
SN FHH S (3H) - HREAY - BES O & 04 Sl ko Hms2
Y EPEEE 5,000
& 5,000
MESLE3AY 825,814 772,360 53,454
| 16,670
= 303,572
= 505,572
MEHERTREE 2,000 2,000 0
301 et a3 2,000 2,000 0
12 J|EtE 4= 2,000 2,000 0
OMsSIESSA 2F 100,000& 10 1,000
OFUMESSSA & 100,000& *10& 1,000
NEAMSE2I(XHA) 350,000 700,000 A350,000
301 Lergazgd 350,000 700,000 A350,000
Moz - 2sRs243 350,000 700,000 A 350,000
OXFISY 29 350,000
ONZEAZE 29 350,000
NENSE2Y(EX) 450,000 44,000 406,000
& 300,000
= 150,000
301 et a3z 450,000 44,000 406,000
& 300,000
= 150,000
10lzHe - 2SR S22 450,000 44,000 406,000
OXNEMSE 2HEXZ2(ZH|) 450,000
= 300,000
= 150,000
MSHHS M ALY 23,814 9,360 14,454
J| 16,670
= 3,572
= 3,572
307 2I2tol ™ 23,814 9,360 14,454
Il 16,670
& 3,572
2 3,572
02 QIABNEE 23,814 9,360 14,454
OMSHI M A 23,814
| 16,670
& 3,572
= 3,572
MSIICAIE &S A S 2,460,000 6,745,000 A 4,285,000
& 650,000
& 25,000
= 1,785,000
N8 MEHSsSA(AZXEHZ) =48(BX) 1,340,000 1,310,000 30,000




fA: 22 HSH
N YSA
dl

CH9l: RIS IIBHAIS S & ALY (9l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
3 650,000
2 690,000
401 A2 HIL 2O 1,340,000 1,310,000 30,000
3 650,000
2 690,000
01 Al&H] 1,330,000 1,300,000 30,000
OMEHSTA(ATXEI2)ZLZAl 1,330,000
3 650,000
2 680,000
03 Al& 2 THEI 10,000 10,000 0
OMENSDRA(ALXEIR) T SAILUY) 10,000
MEBHSTA(ALZER) T4 EXNHY (XHH) 800,000 0 800,000
401 Al EHIL 2 TH b 800,000 0 800,000
01 Al&H] 800,000 0 800,000
OMENSDA(ATXER) 24 EX0HL 800,000
XIS A& ALY 200,000 270,000 A70,000
401 A2 HIL 2T 200,000 270,000 AT0,000
01 Al&H] 200,000 270,000 A70,000
OXMSAL(OITH) T4 22N HBSY 200,000
SIS AIL X 70,000 650,000 A580,000
308 XHXIEHHI S 0| 70,000 650,000 A580,000
06 RS20 CHE 2 X2 70,000 650,000 A580,000
0NEEYLD U2HAY HILBL X 20,000
OBHED 2ST U2H SHNYEAYN 50,000
T TSHLA (HS) 50,000 100,000 A50,000
= 25,000
2 25,000
401 Al&HI L 2 THY| 50,000 100,000 50,000
= 25,000
2 25,000
01 Al&H] 50,000 100,000 50,000
0148 2EITLTIANY 50,000
= 25,000
2 25,000
PRS- 345,546 238,941 106,605
NPT 345,546 238,941 106,605
101 Q1248 66,096 62,838 3,258
04 JIZH2RRSE 66,096 62,838 3,258
@J‘HI%/\I“(OE%%Q,QLHHI%EF,EE%JIQ,
ARHSZY ALXEL)22 29
36,7202 +102 * 180 66,096
201 YBr2 | 250,000 139,253 110,747
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A 22 H=s
&

33 M=
=

ol MSALSY el
_ _ _ Muo
A E3 . S9(3H) - AR A - BYS Ao il ot o =2
01 ALR 2l 13,000 14,000 A1,000
CETTER=1 13,000
02 ZZ2H| 237,000 125,253 11,747
03222 2 MM 177,000
ClEE] 10,000
OALZHIS Y| 50,000
206 T 2 5,250 5,250 0
01 T2 bl 5,250 5,250 0
ORCITH 228 5% S WE7Y
2500002 *10% 2,500
034 Y NOTH =2ES 22, HARY
350,000 *5CH 1,750
O2te1)] HE 7 (58 RUSESH, 2
II%) 1,000
307 212H0| & 19,200 19,200 0
05 DI2H9IEr 2 19,200 19,200 0
SN ENEEE AP
200,002 *87H A *122 19,200
401 A2 HIL ST 5,000 12,400 AT,400
01 Al &bl 5,000 12,400 AT,400
OZHSEH HUSAZM 5,000
SSHHSHE 2Y 628,226 510,145 118,081
= 3,000
2 625,226
SSHSHESY 447,326 488,245 ~40,919
101 Q1214 148,321 193,890 A45,569
04 )M S 24 148,321 193,890 45,569
OS2 HSME B2loRe 80,410
oz 36, 7202 x5% 2502 45,900
OR25L+g 36,7202 x5% *52L 9,548
CEEED/EN= 36,7202 %53 +112 2,020
Oggassg 36, 72021 x5 % +522 1.5 14,321
O4h 2 8,621
—Ipo3eER 71,789,000 *4.5% 3,231
—IUAAEHD 71,789,002 *2.82% 2,005
—LoQUATHER 2,025,0002 6.55% 133
MR 71,789,000 %3. 1% 2,226
LT 71,789,00024%1.4% 1,006
O4HLA 212 64,274
oJlzz 45,4802 *22 x250L 22,740
SII'E 23,104,000 *4/ 128 7,702
OR2EL+Y 45,4808 %22 *52 4,730
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A 22 H=s
=

MM HREE(SHAVR/HR)
o9 2o HSUH 29 (S5 &2)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SEEEPEY 45,4801 x2 2112 1,001
ORY2eLY 45,4802 +22 %522 +1.5 7,09
ozl 7,000 522 5232 + 128 3,864
ORtALH] 5,002 %22 %232 + 128 2,760
OAHSIDR4E 8,916 +2+35AI1 244128 7,490
o4t & 6,892
—=oIiZREE 57,382,000 +4. 5% 2,583
—ZeRiYEEE 57,382,000 %2.82% 1,619
—¥leyssEe 1,619, 0002 %6 5% 107
—MEEE 57,382, 00024 +3. 1% 1,779
—ns282 57,382, 00024 +1. 4% 804
OYSISY +YAA RY 3,049
o=z 45,4802 125212 42 1,911
ORZEL+Y 45,4802 %1% %102 455
Of22R+y 45,4802+ 12 *102+1.5 683
OSSHUSHEFHH ALY
36, 7202 %42 43| 588
201 Yere gt 299,005 294,355 4,650
01 At 22| H] 23,050 18,400 4,650
CHEES=1 3,600
om=H| 1,200
OSSHSHEH HA22E 2
200,000% +251 +3% 1,200
O+HHURR MBIHE 248 8,250
O+YTUFD ME3IE 248
250,000, 0009 *3. 3% 8,250
02 B2 275,955 275,955 0
0ZZ22 2 MA 82,440
o EH| 172,800
O+2T UEE(ZR)
1,80021+8,000 ¢ *122 172,800
CNEETES 20,715
SEHSUE A LD 174,900 21,900 53,000
206 M2 bl 14,900 14,900 0
01 MEH] 14,900 14,900 0
0+9% 29 o 50,0002 *5 5 *43] 11,000
04+%% EH 1 1,300, 0002 *32] 3,900
401 Al & B2 2 oH bl 160,000 0 160,000
01 AI&H] 160,000 0 160,000
ONEE +8.3 40,000, 00024 # 14! 40,000
PUY VEAIA 25,000,002 * 144 25,000
OHAN WAl& 10,000,0002! 14! 10,000
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A 22 H=s
¥ Hsd

el SHSsHE 29 (98

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

OHZa =X EXISA 85,000,000& » 14| 85,000

SSHSAEU ZOoHQE2AA LK 6,000 0 6,000
3,000
3,000

Mok

401 Al HI Y 201 6,000 0 6,000

3,000
3,000

M

01 Al H] 6,000 0 6,000

OZSHEAZEU ZoHAEAAEL XA 6,000
3,000
3,000

U

oM (2L 22 /235H) 3,888,793 3,292,018 596,775

1,187,883
560,781
2,140,129

MW

=N E 23 1,309,000 1,799,700 A490,700
712,800
192,920
403,280

M

D2l dxns2 AE 645,000 1,399,700 AT54,700
300,000

105,000
240,000

W

401 AIEHIZ S THYI 645,000 1,399,700 AT754,700
300,000
105,000
240,000

MW

01 A& H 610,000 1,399,700 AT789,700
ondgdzl A 610,000
282,500

98,875
228,625

02 Z2ltl 30,000 0 30,000
2l tl 30,000
15,000
5,250
9,750
03 A& 201 5,000 0 5,000

ongdx&U 5,000
2,500

875
1,625
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Ho
sl
y
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MW
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to
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FA S22 HF
HH: 2 (2L 22 /25H)
&2 FIHNE 23 (ehel: =3
_ _ HE T
N33 S2(3H) - MEAMY - BES @ﬂOH Hlw &2
401 Al EHIZL 2OHY| 100,000 40,000 60,000
= 50,000
== 17,500
= 32,500
01 Al£Hl 100,000 40,000 60,000
osts0ls gy ALY 100,000
2 50,000
== 17,500
= 32,500
HoolEe 25 4,000 0 4,000
2 2,800
= 420
2 780
206 M 2 4,000 0 4,000
2 2,800
= 420
2 780
01 M2 4,000 0 4,000
OFAIIEE ES(S2H0I72Y) 4,000
2 2,800
L= 420
2 780
DYSESNER EXNHY 400,000 0 400,000
2 280,000
== 42,000
2 78,000
401 Al EHIZ 2OHY| 400,000 0 400,000
= 280,000
== 42,000
= 78,000
01 Al&H] 400,000 0 400,000
oundsstsinexs EXNMNLY 400,000
= 280,000
== 42,000
= 78,000
SN ES= FHEH 80,000 0 80,000
2 24,000
= 19,600
= 36,400
401 A& HI Y ST 80,000 0 80,000
2 24,000
= 19,600
2 36,400
01 Al&H] 80,000 0 80,000
O=S3AN Bs5 FHEU 80,000
2 24,000
L= 19,600
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SN 2SS
M 2o (SLSZ/23H)
CHel: OINZ 3 (e &
_ _ PSS
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ol AF o8 Blusz
| = 36,400
DESSSNER LI 80,000 0 80,000
2 56,000
= 8,400
2 15,600
401 Al2HI L LTI 80,000 0 80,000
2 56,000
= 8,400
2 15,600
01 Al&HI 80,000 0 80,000
OSSENEZ LSEM 80,000
2 56,000
= 8.400
2 15,600
EXH 25 490,000 507,000 17,000
= 256,000
2 234,000
DESXE 160,000 100,000 60,000
= 108,000
2 52,000
401 AlEHI LS LI 160,000 100,000 60,000
= 108,000
2 52,000
01 Al&H| 160,000 100,000 60,000
ONYHX EXINY 160,000
= 108,000
2 52,000
ARSI IDAR=EopV BT ] 90,000 27,000 63,000
401 Al2HI L LTI 90,000 27,000 63,000
01 Al&H] 90,000 27,000 63,000
OXE - HIXNZS3 M &bl 90,000
D450 245 50,000 0 50,000
= 33,750
2 16,250
401 Al2HI L LTI 50,000 0 50,000
= 33,750
2 16,250
01 Al&H| 50,000 0 50,000
ODnHEW B4 50,000
= 33,750
2 16,250
DEEZRALFADI 24T 110,000 0 110,000
< 74,250
2 35,750
401 Al2HI L2 THHI 110,000 0 110,000
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SH: 2BRASY
Y 2o (2ILBE/25T)
crel: CXES B (cr9l: @ e)
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0l & o i HIREY
= 74,250
= 35,750
01 Al€Hl 110,000 0 110,000
O0DY BZol HAADI BLFY) 110,000
L= 74,250
i 35,750
23 =8 SaHF J|Ee &Y 60,000 0 60,000
& 30,000
= 30,000
207 A 2IHEH| 60,000 0 60,000
= 30,000
= 30,000
01 2= 60,000 0 60,000
OS2 AHF J|Ee &y 60,000
L= 30,000
= 30,000
23t =8 SFEH & YAl 2F 20,000 0 20,000
& 10,000
i 10,000
401 A& HIZ 2 OHHI 20,000 0 20,000
= 10,000
= 10,000
01 Al€Hl 20,000 0 20,000
OSHMFHSARY W MAZ2 29 20,000
= 10,000
= 10,000
LEEAM BE 352,000 49,946 302,054
= 1,000
= 351,000
FEEAMIA 342,000 41,964 300,036
307 2I2toI ™ 42,000 41,964 36
02 QItF A2 X 42,000 41,964 36
ORESAMH+DSH (DL Bol2Y
A& 12,000
OSRESAMH+DSH (DL 5R) 22I2Y X
2 12,000
ONdN dsus Z2d8 2IX& 18,000
401 AIEHIZ 2O Y| 300,000 0 300,000
01 Al€Hl 300,000 0 300,000
ODYBUHFH SX I 300,000
SW2AXA 8,000 7,982 18
307 QI2toI ™ 8,000 7,982 18
02 It A2 X 8,000 7,982 18
onygguw 2IAA 7,000
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oLk

—

40 {0 MO
Qi toi tol

[
2

=2
R
J2H

1,000

Mok

2,000

1,000
1,000

2,000

M

2,000

1,000
1,000

2,000

U

2,000

2,000

1,000
1,000

2,000

MW

700,000
450,000
102,500
147,500

480,000

220,000

M

500,000
350,000
52,500
97,500

100,000

400,000

W

500,000
350,000
52,500
97,500

100,000

400,000

W

500,000
500,000

350,000
52,500
97,500

100,000

400,000

W

200,000
100,000
50,000
50,000

200,000

MW

200,000
100,000
50,000
50,000

200,000

H

200,000
200,000

100,000
50,000
50,000

200,000

23t 2t

H

85,101
25,083

8,361
51,657

88,595

N3,494

23t 2te

43,296

40,735

2,561
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2A: B2 X =Dt
A 2N (SSL2HZ/23H)
o©el: 232t (9 E2
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
101 el d| 11,016 7,855 3,161
04 JI12HHZ22NSE+ 11,016 7,855 3,161
ON=XEsS ZatMzel o2
36,7203 x5 H x 152 x4 3| 11,016
201 B2 | 16,880 16,880 0
01 At 2teltl 13,220 13,220 0
Oget=ZH| 6,500
O=stael 228 2
150,000 *5J0 2«62 4,500
O23tMUIXl BIZ (A8 S5) ¢ 2,000
oz2d=¢ 6,720
O2stMAXNZ=E
70,0003 x4 +23| x12& 6,720
02 E==2gHl 3,660 3,660 0
o0332= & HMA 1,160
O2t M2 (A BN AE)MI Q2
80,000& x12& 960
O3 M+ SSot&EL Hatx+=HE
200,000& *13] 200
(OINE=F-1:=1E=IN}:]| 2,500
O3S & THEITAIAEAIE KR 2,500
203 AR F=&lH| 1,000 1,000 0
03 Al =X 25| 1,000 1,000 0
Ol gR2=a 20,0003 x10Y x53] 1,000
301 QP A 14,400 2,000 2,400
12 JEt24 3 14,400 12,000 2,400
OF3M Fou2elel 24
100,000& = 1200 &= 12& 14,400
FAMEE 2 A 41,805 47,860 A6,055
= 25,083
& 8,361
= 8,361
101 el d| 39,805 40,360 AbBb5
= 23,883
& 7,961
= 7,961
04 J12HHZ22NHSES 39,805 40,360 AbBb5
O2IMELE 2|0l AFE(3Y) 39,805
= 23,883
& 7,961
= 7,961
201 LBer2gH| 2,000 7,500 25,500
= 1,200
& 400
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SN

23
B 25
chel: 232 (el a2
SN -BH - S(B) - MRAY - BES Ofl &k 04 e HRE2
= 400
01 At 22lt] 2,000 7,500 5,500
ossmsEEe A2E 7Y 2,000
2 1,200
= 400
= 400
JEEE L 952,692 366.777 585,915
nEsen 2 283,041 103,175 79,866
101 0124 bl 38,241 12,775 25,466
UBEEES TR 38,241 2,775 25,466
onygssBARY 38,241
OAN&ze 36,7202 *12 %2102 7.712
OLE % ot 36,7208 x224%2102 15,423
ORIFL+Y 36,7202 x32 x422 4,627
OBg2R4+Y 52,3709 3% *422) 6,599
O=oleigREE 34,361,002 *4.5% 1,547
OMTHEE 2 34,361,000 +3. 1% 1,066
e 34,361, 0002 +2.385% 820
ongzse 34,361,000 +1.3% 447
201 et | 157,700 81,400 76,300
01 At 22lt] 41,200 13,200 28,000
CHEES=Y:] 38,400
O=ASX Y 20,0002 +55+ £ #1228 1,200
OzetT2lE FHE2IXRY 1,500,008 %23 3,000
OZST2E EHTY 300,008 +45+33] 3.600
OD&er22 2183 ME  1,00085,000% 5,000
OD4E2H 222 ME 1,000,000 +35 3,000
ODEHSH SETHTY 50,0008 5202 1,000
OS2IIBX 2A HE 10,0002 200 2,000
OsFALRERY 200,000+ 128 2,400
OANREERY 100,000 128 1,200
ORNALRSUNN B2 252
2,000, 0002 43| 8,000
ORNASRBUNN IE RELEE
2,000, 0008 43| 8,000
ozd+g 2,800
On4een 2% FHLY
70,0002 * 10 *43] 2,800
02 2= S| 101,500 68,200 33,300
0Z322 2 MAl 66.100
ONBt+E23 300,000+ 128 3,600
O&IIR3 5,000, 0002 * 122 60,000
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JETHO MO

—

MHD ton ton

_ _ pSNE e
M- E - S(3) - HRAY - BY2 Abou e HIRE
SEEBEETE= 500,0002 *23l 1,000
O8t=8t2 &350t 1,000,000 *13] 1,000
Ost=st 228 s 500,000% * 1 500
CNEETES 35,400
OLLINBAHEL42 150,00024 * 122 1,800
OEBIEETI=T 500,000% * 122 6,000
OAuEZAL4E 300,0002 128 3,600
ORAYANAHEAR 500,0002 * 122 6,000
OEE2NSLADIBAE 50,0008 +128 600
O+FDESASEAS 4,500,008 23] 9,000
OANESRXLZHI 46l 700,0008*128 8,400
03 B A2 b 15,000 0 15,000
CRIEFSINE] 7,500, 0002 +25] 15,000
203 YR =T 1,000 0 1,000
03 Al EZ R E & H| 1,000 0 1,000
O%EH N L 2L BE YREY)
20,0002 102 *53] 1,000
206 TH 2 | 9,600 5,300 4,300
01 HZ bl 9,600 5,300 4,300
OWAMY AT FEO
500,0002 * 128 6.000
ogseE HEPY 300,000% 122 3,600
207 ¢RI 20,000 0 20,000
02 & AP 20,000 0 20,000
ODHES2 SHOIX Ha 20,000,008 1A 20,000
405 Xt &HE St 56,500 3,700 52,800
01 LS EH SH) 56,500 3,700 52,800
onyESH HIB 26,500
OAE2HA FoIACIX 7Y 70,0008 +507H 3,500
Ostoja =g 500, 00024 *2JH 1,000
O2AMEIIAY 2,000,0002! +1CH 2,000
ORQIEIA XS] 10,000, 00024 *2CH 20,000
ons=2Y REPY| 30,000
Hu2E Ay 300,000 124,879 75,121
401 Al & HIZ 2 CH bl 300,000 124,879 75,121
01 Al&H] 295,000 50,000 245,000
onseed Ay 295,000
03 Al& 2 OhH] 5,000 74,879 69,879
onssER AY 5,000
2T T RHX IHIAY 224,524 18,710 205,814
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